SIRES e He™ yad ufvreer uRue =l (3IREs)
yerH grafered gi&r (2021-2022)

Model Question Paper Set - 01

Class - XI Subject - Mathematics Time - 1 Hrs. 30 Min. Full Marks - 40

General Instructions (A= fAd20):

> Itis mandatory to answer all the questions. (T 37 31fard & |)

> The total number of questions is 40. (F2I &1 Hel AT 40 7 |)

> Each question carries 1 mark. (I&& 39 & forg 1 3fd FiRa 2))

» Four options are given for each question, choose one of the correct option.
[P 999 B IR [dwey AU 10 &, 39 | Udh 98! f[Adhed &1 99+ HIfg )

> There is no negative marking for any wrong answer. (Tafd SR & ol ®Ig 3i®
TEF BIS ST |)

1. Which of the following set is an empty set?
(@) A={x:x€N, 2x+5 = 6}
(b) B={x:x€N, 1<x<2}
(c) E= {x : x is an even prime number}
d F={x:x€0, 1<x<?2}

f=ferRad # & o9 Rad aqzag 87

(@ A={x:x€N, 2x+5 =6}
(b) B={x:x€N, 1<x<?2}
(c) E={x:x, T® ¥ ¥ AT &}
(d F={x:x€0Q, 1<x<?2}
2.  Which of the following has only one subset?
FrfeRaa 9 9 fFadT dad Th SURHT &7
(a) {4} (b) @ (c) {4, 5} (d) {0}

3. Ifthe set A contains 5 elements, then the number of elements in the power set P(A)
is
e fHdl T A H 5 9aW & Al A & Wfdd Iy P(A) H§ Fal & G=1
gl
(a) 25 (b) 16 (c) 32 (d) 8

4. If(@R)A=1{234,810}, B ={3,4,5 10,12} and (721) C = {4,5,6,12, 14},
then (@) (AU B) N (AU () is equal to (IR T ):
(a){2, 3,4,5,10, 12} (b){2, 3,4,5, 8, 10, 12}
(c) {2, 3, 4, 10, 12} (d) None of these (379 & ®Is T8l )
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5. f@ER)U=1{1,23,45,678,9), A={1,23,4}, B=1{2468} then (qd)
(AU B)'is equal to (SRT&R § ):
(@){1, 2,3,4,6, 8} (b) {2, 4}
(c) {5, 7, 9} (d) None of these (37H & ®Ig &l )
6. IfAand B aretwo setsthen (AUB')' N (A" UB)'is
(a) Null Set (b) Universal Set (c) A (d) B

e AR B @9z & Ol (AUB) N (A’ UB) «RIR &
(a) Rad wqea@  (b) W9 Hgzed (c) A’ (d) B’

7. If A={1,2,3}, B={3,8}then (AUB) X (AN B)isequal to
(a) {(3,1),(3,2),(3,3),(3,8)} (b) {(1,3),(2,3),(3,3),(8,3)}
(c){(1,2),(2,2),(3,3),(8,8)} (d) {(8,3),(8,2),(8,1),(8,8)}
afd A={1,2,3}, B={3,8}dT (AUB) X (ANB) &
(a) {(3,1),(3,2),(3,3),(3,8)} (b) {(1,3),(2,3),(3,3),(8,3)}
(c){(1,2),(2,2),(3,3),(8,8)} (d) {(8,3), (8,2),(8,1),(8, 8)}

8. LetA={x,y,2z}, B={a,b,c,d}, whichone of the following is not a relation from
AtoB?

afe A={x,y,z}, B={a,b,c,d}, @ M=fIRaq ¥ ¥ &9 (&% A & B ¥ Fag
T8l 87
(@) {(x, @), (x,c)} (b) {(y, ©), (v, d)}
(c){(z a), (z, d)} (d) {(z, b), (y, b), (a, d)}
9. The range of the function f(x) = |x| is

Wl f(x) = |x| BT R &

(a) (0, ) (b) (—=o0,0) (c) [0, ) (d) (=0, 0]
10. The domain of the function f(x) = - is
1 .
wed f(x) = oz 71 Vi g

() =3 <x<3 (b)-3<x<3 (¢J—9<x<9 (d)-9<x<9
11. Circular measure of the angle 75° is

BT 75° HI gA A9 7

(a)m/3 (b) 5r/12 (c) 3m/4 (d) 2m/7

4
12. Iftanf = — 5 , then sin@ is
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—Zputnot= (b) —=or = 2 butnot—g () —>or =
(a) 5uno5 (b) 5or5 (c)5uno = (d) 4or4

4
aﬁtan9=—§ﬁsin9wwé

4 4 4 4 4 4 3 3
(a) 5@% Sﬂé’r(b) A (c)séﬁo—rr—g%"r(d) P
13. If A, B, C,D be angles of a cyclic quadrilateral taken in order, then
cosA + cosB + cosC + cosD =
(a) 0 (b) 1 (c) -1 (d) 1/2
afs A,B,C,D %9 W Udb IDII AGYSl & DI B dl
cosA + cosB + cosC + cosD =
(@)0 (b) 1 (c) —1 (d)1/2
14. The value of sec (2?”) + cosec (S?n) is equal to
21 5w
sec (?) + cosec (?) T A9 B
(a) 2 (b) —2 (c) 4 (d) 0
4
15. If cosx = ——, where x € [E, n], then the value of cos (E) is equal to
5 2 2
4 o
IfT cosx = —— 8l x € [E,n]ﬂa cos(f)av‘r a4 7
5 2 2
1 N 1 2
(@) 75 (b) 5 ©) 75 () - %

16. Value of 2sin15°cos75° is

2sin15°c0s75° &1 919 &

2+/3 V3 —
= (b) 1 9% (0) 253

2
17. If A+ B = 45°,then (cotA — 1)(cotB — 1) is equal to
Ife A+ B = 45° ar (cotA — 1)(cotB — 1) &1 719 =
(@)1 (b) 1/2 (c) —1 (d) 2

(a)

18. The value of 4sinAcos3A4 — 4cosAsin34 is equal to
4sinAcos3A — 4cosAsin®A &7 H9 SRI6R B

(a) cos2A (b) sin3A4 (c) sin2A (d) sin4A
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19.

20.

21.

22.

23.

24.

25.

26.

27.

One of the principal solution of v/3secx = —2 is equal to

V3secx = =2 ?BTQEEQ@HFT%\*

2T T
(a)? (b) 3

51
(c) 3

General solution of the equation cos4x = cos2x is

nr

(@Q)—,nez (b)nm, neZ

2

el Z
(c) 3 mE€

THIBRIT cosdx = cos2x BT ATUD 8 &

by nez  (binm neZ  (m,neZ () (b)w () 2
If4x +3 < 6x+ 7,thenx €
Ifd 4x+3 < 6x+7,7d9 x €
(a) (2, ) (b) (~2, ) () (=00,2) (d) (—o0, )
|3 — x| will be equal to 3 — x if
3—x|=3—x u
(a)x <3 (b)x >3 (c)x =3 (d)x <3
If x < 5, then
Ife x < 5, d9
(@) —x < =5 (b) —x < =5 (c) —x > =5 (d) —x = =5
If x is a real number and |x| < 3, then
Ife x U aRAfdd AT B TAT x| < 3,79
(a)x =3 (b)-3<x<3 (Jx<-3 (d)—-3<x<3
(—=5i0) (%i) is equal to (SRTER ®)
(a) 0 +i (b) < + 0 (c) 0 + 2i (d)2 + 0
i2+i*is
(a) positive (b) negative (c) O (d) cannot be determined
i2+i*g
gD NERUSES (c)0 (d) fFeiRa =2t fohar S Adar

14
Find the modulus of of 1—+l
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(d) 3

(d) both (b) and (c)



28.

29.

30.

31.

32.

33.

34.

14i . .
Ezﬁrwcn—cﬁslﬁaﬁ

(@)1 (b) 2 (c) —1 (d) =2

+ib
Ifx+iy=%,thenx2+y2 =

+ib
Uﬁ{x+iy=2_:b, ar x2 4+ y? =

(@)1 (b) 2 (c)0 (d) 4
Multiplicative inverse of 2 — 3i is
(a) 2z + ii (b) 2z ii (c) 2 + 3i (d) none of these
13 13 13 13
2 — 3i BT oA I 2,
2 . 3 2 . 3 _ : :
(a)E+lE (b)E—lE (c)2+ 3i (d) S99 & @I 8!
Solution of equationx? + x +1 =0is

I x2+x+1=0 P 8 ©

-14+/3i V3i
> (d) iT

(a) £i (b) £(1/2)i (c)
If 1 — iis aroot of the equation x? + ax + b = 0, where a, b € R, then the values

of a and b are respectively

AR x2 +ax +b =0 HT Uh I 1 —i &, ST&f a,b € R AT a,b & A HAM:
g

(a)2, 2 (b) =2, 2 (c) =2, —2 (d) 1,2
V=3 .V/=6is equal to (SRTER B)
(a) 3v2 (b) —3v2 (c)3v2i (d) —3v2i

n__ n
Find the positive integer n so that lirr; (xx 2 ) = 108.
P g -

gD Ui n AT Hx i lim (xn_3 )= 108 &

Xx—3 x—3
(a)1 (b) 2 (c)3 (d) 4
tim ()’
(@) 0 (b) 1 (c) 2 (d) not defined
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35.

36.

37.

38.

39.

40.

lim (mﬂ) g

x—0 X

(@) 0 (b) 1 (c) 2 (d) 3TaRHTRd

) . 1) .
lim (xsm —) is
x—0 X

(@) 0 (b) 1 (c)1/2 (d) does not exist
lim (xsin %) g

x—-0

(a) 0 (b) 1 (c)1/2 CESSEIRERS
i (55 -

(a) 0 (b) 1 (c) e? (d) e

If f(x) = 2x% + 3x — 5, then f'(—1) is equal to

afE f(x) = 2x% +3x —5,qr f'(—1) &1 99 81

(@) 0 (b) 1 (c)—1 (d) =2

Derivative of (x? + 1)cosx with respect to x is

(x? + 1)cosx BT aHeTT x & AU BT

(a) 2xcosx — (x% + 1)sinx (b) 2xsinx — x%cosx
(c) x2(cosx — sinx) (d) 2x(sinx + cosx)
— cosx . .
Derivative of ——— with respect to x is
1+sinx
1
— i 2
(@) —(1 + sinx)* (b) P (c) P (d) none of these
COSsXx
—— P 3fqdelsl x D ATUE BRI
1+sinx
B . 1 -1 . .
(a) — (1 + sinx)? (b) — (c) —— (d) 379 & BIg ol
Derivative of log, x with respect to x is
1 1
(@) a*log, a (b) = (c) (d) none of these
X X log, a
log, x BT AAHeAS x & ATUT BT
1 1 . .
(a) a*log, a (b) = (c) (d) 398 & dIs el
X X log, a
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